

JENSEN–TYPE INEQUALITIES AND THEIR APPLICATIONS

DINH THANH DUC AND NGUYEN NGOC HUE

(Communicated by M. Niezgoda)

Abstract. In the present paper, we establish some entirely new Jensen-type discrete and integral inequalities. As applications of these results, we strengthen the well-known majorization theorem of Hardy, Littlewood and Pólya, and we also give a generalization of Andersson's inequality.

1. Introduction

The Jensen inequality for convex functions is one of the significant classical inequalities in mathematical analysis. Many other important inequalities such as the Hölder and Minkowski inequalities, inequalities between means, the Ky Fan inequality, etc can be obtained as particular cases of it.

Let $\Phi : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be an arbitrary convex function, where I is an interval of real numbers. The Jensen inequality reads (see, for example, [4]) that if $f : [a, b] \rightarrow I$ is an integrable function and $w : [a, b] \rightarrow \mathbb{R}$ is an integrable non-negative weight function with $\int_a^b w(x)dx > 0$, the following inequality holds true

$$\Phi\left(\frac{1}{\int_a^b w(x)dx} \int_a^b w(x)f(x)dx\right) \leq \frac{1}{\int_a^b w(x)dx} \int_a^b w(x)\Phi(f(x))dx. \quad (1.1)$$

The Jensen inequality (1.1) changes its direction when Φ is a concave function. The discrete analogue of the inequality (1.1) is as follows:

$$\Phi\left(\frac{1}{\sum_{i=1}^n w_i} \sum_{i=1}^n w_i x_i\right) \leq \frac{1}{\sum_{i=1}^n w_i} \sum_{i=1}^n w_i \Phi(x_i), \quad (1.2)$$

where $w_i \geq 0$, $\sum_{i=1}^n w_i > 0$ and $x_i \in I$ for all $i = 1, \dots, n$. In the recent years, there is an increasing interest in the research on the Jensen and Jensen-type inequalities, see [5, 11, 8, 9, 14] and the references therein. Almost all of these works focus on refining, strengthening, reversing, generalizing or considering the bounds for the Jensen functional.

Mathematics subject classification (2010): 26D15, 26A51.

Keywords and phrases: Jensen's inequality, Jensen-type inequality, refinement, reverse, generalization.

Parrallel with those researches, an inspire work for the study of the Jensen and Jensen-type inequalities is Andersson’s inequality. It says (see, for example, [1]) that if f_i are convex increasing functions defined on $[0, 1]$ with $f_i(0) = 0$ then

$$\int_0^1 \prod_{i=1}^n f_i(x) dx \geq \frac{2^n}{n+1} \prod_{i=1}^n \int_0^1 f_i(x) dx. \tag{1.3}$$

An interesting special case of (1.3) when taking f_i to be the same function f is the following inequality

$$\int_0^1 [f(x)]^n dx \geq \frac{2^n}{n+1} \left(\int_0^1 f(x) dx \right)^n \tag{1.4}$$

for any $n \in \mathbb{N}$. It is noticeable that the inequality (1.4) implies the classical Jensen inequality with respect to the convex function $\Phi(x) = x^n$; moreover, the coefficient $\frac{2^n}{n+1}$ is much greater than 1 when n is large and it is the best possible. In 2005, Mercer [12] proved that the inequality (1.4) was still valid for replacing n with $\alpha \in (-1, 0] \cup [1, \infty)$. In other words, if f is an increasing convex function defined on $[0, 1]$ with $f(0) = 0$, the following inequality holds true

$$\int_0^1 \Phi(f(x)) dx \geq \frac{2^\alpha}{\alpha+1} \Phi\left(\int_0^1 f(x) dx\right), \tag{1.5}$$

where $\Phi(x) = x^\alpha$ with $\alpha \in (-1, 0] \cup [1, \infty)$ is the convex function. This inequality suggests a following natural question: Can the inequality (1.5) be generalized to other convex functions? In that case what does the coefficient $\frac{2^\alpha}{\alpha+1}$ change with respect to Φ ?

Motivated by the mentioned results and the above questions, in this paper we give a generalization of the inequality (1.5) for convex functions which the coefficients in the expansion of its Bernstein polynomials satisfying some preset condition. The main result of the paper is given in Theorem 2.1. To obtain this theorem, we use some key tools consisting of the Bernstein polynomials of a continuous function and Chebyshev’s inequality for monotonic tuples. A discrete version of Theorem 2.1 is also stated in Theorem 2.5. As applications of these results, we strengthen the well-known majorization theorem of Hardy, Littlewood and Pólya (see Theorem 3.2) and give a generalization of the Andersson inequality (see Theorem 3.4).

2. Main results

We begin this section with recalling some results of Bernstein polynomials. According to [10], the Bernstein polynomial B_n^f of order n of the function f defined on $[0, b]$ is given by

$$B_n^f(x) = \sum_{k=0}^n f\left(\frac{kb}{n}\right) \binom{n}{k} \left(\frac{x}{b}\right)^k \left(1 - \frac{x}{b}\right)^{n-k}.$$

Furthermore, if f is a continuous function on $[0, b]$, the sequence of polynomials $\{B_n^f\}_{n=1}^\infty$ converges uniformly on $[0, b]$ to f , see [10, Theorem 1.1.1] for the details.

These polynomials have the expansion in powers of x of the form

$$B_n^f(x) = \sum_{k=0}^n \binom{n}{k} \frac{\Delta^k f(0)}{b^k} x^k = \sum_{k=0}^n c_{nk}^f x^k, \tag{2.1}$$

where $\Delta^k f(0)$ is the difference of k th order of the function f at $x = 0$ given by

$$\Delta^k f(0) = \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} f\left(j \frac{b}{n}\right).$$

Now, we are ready to state the main result of the paper.

THEOREM 2.1. *Let $f : [0, 1] \rightarrow [0, b]$ be an integrable increasing function and $w : [0, 1] \rightarrow [0, \infty)$ be a weight function with $\int_0^1 w(x)dx = 1$. Let $g : [0, 1] \rightarrow [0, \infty)$ be also an integrable increasing function satisfying $\int_0^1 w(x)g(x)dx = 1$. Suppose that $f(x)$ and $g(x)$ belong to the interval $[0, b]$ for all $x \in [0, 1]$, where the symbol $c = \int_0^1 w(x)f(x)dx$. Let $\Phi : [0, b] \rightarrow \mathbb{R}$ be a continuously convex function such that the coefficients c_{nk}^Φ of the Bernstein polynomials B_n^Φ of the function Φ satisfy that, for any $n \in \mathbb{N}$,*

$$0 \leq \sum_{k=0}^j c_{nk}^\Phi \leq \sum_{k=0}^n c_{nk}^\Phi, \quad \forall j = 0, \dots, n. \tag{2.2}$$

Then, if the function $\frac{f}{g}$ is also increasing on $(0, 1)$ and $c \geq 1$, the following inequality holds true

$$\int_0^1 w(x)\Phi(f(x))dx \geq \frac{\int_0^1 w(x)\Phi(g(x))dx}{\Phi(1)} \Phi\left(\int_0^1 w(x)f(x)dx\right). \tag{2.3}$$

Conversely, if the function $\frac{f}{g}$ is decreasing on $(0, 1)$ and $c \leq 1$, then the inequality (2.3) is reversed.

Proof. We show the result for the first case. To this end, let us first define the two functions f^* and F on $[0, 1]$ by setting, for each $x \in [0, 1]$,

$$f^*(x) = g(x) \int_0^1 w(t)f(t)dt \quad \text{and} \quad F(x) = \int_0^x w(t)[f(t) - f^*(t)]dt.$$

Clearly, we have $F(0) = F(1) = 0$ by the hypothesis $\int_0^1 w(x)g(x)dx = 1$. Since $f^*(x) = cg(x)$, it is clear that f^* is increasing on $[0, 1]$. On the other hand, by calculating directly, we obtain, for all $x \in (0, 1)$,

$$F'(x) = w(x)[f(x) - f^*(x)] = w(x)g(x) \left(\frac{f(x)}{g(x)} - \int_0^1 w(t)f(t)dt \right).$$

It follows that the sign of F' depends only on the sign of the expression in the bracket. Therefore, the derivative F' changes sign exactly once in $(0, 1)$ by the monotone of $\frac{f}{g}$

on $(0, 1)$. Since $\frac{f}{g}$ is increasing on $(0, 1)$, the derivative F' is negative near 0. This, along with $F(0) = F(1) = 0$, leads to $F(x) \leq 0$ for all $x \in [0, 1]$. This fact, together with the hypothesis $\int_0^1 w(x)g(x)dx = 1$, yields

$$\int_x^1 w(t)[f(t) - f^*(t)]dt \geq 0, \quad x \in [0, 1]. \tag{2.4}$$

Besides, by the gradient inequality for the convex function Φ (see, for example, [4]) and the non-negativity of w , we deduce that, for all $x \in [0, 1]$,

$$w(x)\Phi(f(x)) - w(x)\Phi(f^*(x)) \geq w(x)\varphi(f^*(x))(f(x) - f^*(x)), \tag{2.5}$$

where φ is a subdifferential of Φ . Notice that, by the increase of φ on $[0, b]$ (see, for example, [4]) and of f^* on $[0, 1]$, we get $\varphi(f^*(1)) \geq \varphi(f^*(0))$. Moreover, due to the second mean-value theorem for the integral (see [2, p. 35]), together with the inequalities (2.4), (2.5), there is a $\xi \in [0, 1]$ such that

$$\begin{aligned} & \int_0^1 w(x)\Phi(f(x))dx - \int_0^1 w(x)\Phi(f^*(x))dx \\ & \geq \int_0^1 w(x)\varphi(f^*(x))(f(x) - f^*(x))dx \\ & = \varphi(f^*(0)) \int_0^\xi w(x)[f(x) - f^*(x)]dx + \varphi(f^*(1)) \int_\xi^1 w(x)[f(x) - f^*(x)]dx \\ & \geq \varphi(f^*(0)) \int_0^\xi w(x)[f(x) - f^*(x)]dx + \varphi(f^*(0)) \int_\xi^1 w(x)[f(x) - f^*(x)]dx \\ & = \varphi(f^*(0)) \int_0^1 w(x)[f(x) - f^*(x)]dx = 0, \end{aligned}$$

which is equivalent to

$$\int_0^1 w(x)\Phi(f(x))dx \geq \int_0^1 w(x)\Phi(g(x)c)dx, \tag{2.6}$$

where $c = \int_0^1 w(t)f(t)dt$.

It remains to prove that the following inequality holds for all $c \geq 1$

$$\int_0^1 w(x)\Phi(g(x)c)dx \geq \frac{\Phi(c)}{\Phi(1)} \int_0^1 w(x)\Phi(g(x))dx. \tag{2.7}$$

Indeed, by using Jensen's inequality and the hypotheses on the functions g and w , we easily deduce that, for all $k \geq 1$,

$$1 \leq \left(\int_0^1 w(x)[g(x)]^k dx \right)^{1/k} \leq \left(\int_0^1 w(x)[g(x)]^{k+1} dx \right)^{1/(k+1)}. \tag{2.8}$$

This inequality leads to $\int_0^1 w(x)[g(x)]^k dx \geq 1$ for all $k \geq 1$. This, together with (2.8), gives us that

$$\begin{aligned} \int_0^1 w(x)[g(x)]^k dx &\leq \left(\int_0^1 w(x)[g(x)]^{k+1} dx \right)^{\frac{k}{k+1}} \\ &\leq \left(\int_0^1 w(x)[g(x)]^{k+1} dx \right)^{\frac{k}{k+1}} \left(\int_0^1 w(x)[g(x)]^{k+1} dx \right)^{\frac{1}{k+1}} \\ &= \int_0^1 w(x)[g(x)]^{k+1} dx, \end{aligned}$$

that is, the sequence $\{\int_0^1 w(x)[g(x)]^k dx\}_{k=0}^n$ is monotonically increasing. Clearly, the sequence $\{c^k\}_{k=0}^n$ is also monotonically increasing because $c \geq 1$. On the other hand, we can write the Bernstein polynomials of order n of the function Φ as

$$B_n^\Phi(x) = \sum_{k=0}^n c_{nk}^\Phi x^k.$$

By the hypotheses of the theorem, the coefficients c_{nk}^Φ in the above expansion satisfy the condition (2.2). Thus, using Chebyshev’s inequality for monotonic sequences (see, for example, [13]), we have

$$\begin{aligned} \int_0^1 w(x)B_n^\Phi(g(x)c)dx &= \sum_{k=0}^n c_{nk}^\Phi c^k \int_0^1 w(x)[g(x)]^k dx \\ &\geq \frac{1}{\sum_{k=0}^n c_{nk}^\Phi} \left(\sum_{k=0}^n c_{nk}^\Phi \int_0^1 w(x)[g(x)]^k dx \right) \left(\sum_{k=0}^n c_{nk}^\Phi c^k \right) \quad (2.9) \\ &= \frac{B_n^\Phi(c)}{B_n^\Phi(1)} \int_0^1 w(x)B_n^\Phi(g(x))dx. \end{aligned}$$

Since the function Φ is continuous on $[0, b]$, the Bernstein polynomials B_n^Φ converges uniformly on $[0, b]$ to the function Φ by [10, Theorem 1.1.1]. Hence, by letting $n \rightarrow \infty$ in the above inequality (2.9), we obtain the inequality (2.7).

The other case is proved similarly, we omit the details.

We can use a similar argument as in the proof of Theorem 2.1 to obtain the following result.

COROLLARY 2.2. *Let $f, g, w : [0, 1] \rightarrow [0, \infty)$ be integrable increasing functions, and $\Phi : \mathbb{R} \rightarrow \mathbb{R}$ be an increasing convex function. If the function $\frac{f}{g}$ is also increasing on $(0, 1)$, we have the following inequality*

$$\int_0^1 w(x)\Phi(f(x))dx \geq \int_0^1 w(x)\Phi\left(g(x) \int_0^1 f(t)dt\right)dx. \quad (2.10)$$

If the function $\frac{f}{g}$ is decreasing on $(0, 1)$, then the inequality (2.10) is reversed.

Following [10, p. 13], the coefficients c_{nk}^Φ converges to $\frac{\Phi^{(k)}(0)}{k!}$ as $n \rightarrow \infty$ provided these derivatives exist. We thus deduce an immediate consequence from the proof Theorem 2.1 as follows.

COROLLARY 2.3. *Let f, g and w be as in Theorem 2.1. Suppose that $\Phi : [0, b] \rightarrow \mathbb{R}$ is a smooth convex function satisfying $\Phi^{(k)}(0) \geq 0$ for all $k \geq 0$. Then, if the function $\frac{f}{g}$ is increasing on $(0, 1)$ and $c \geq 1$, the inequality (2.3) holds true. Conversely, if the function $\frac{f}{g}$ is decreasing on $(0, 1)$ and $c \leq 1$, then the inequality (2.3) is reversed.*

REMARK 2.4. (i) Theorem 2.1 not only gives an affirmative answer to the first question, but also shows the best coefficient to the second question with respect to the convex function Φ and the function f . It should be pointed out that not all convex functions satisfy the condition (2.2). Indeed, it can check that the functions $\exp(x)$ and $x^\alpha, \alpha \geq 1$, obey (2.2), whereas the function $\frac{1}{1+x}$ does not verify (2.2).

(ii) We consider a specific case of Theorem 2.1 which the result is similar to (1.5). The hypothesis of the function f in inequality (1.5) implies that the function $\frac{f(x)}{x}$ is increasing on $[0, 1]$. However, the function $\frac{f(x)}{x^\beta}, \beta > 1$, may still be increasing on $[0, 1]$. Hence, if this case is true, we can take $w(x) = 1, g(x) = (\beta + 1)x^\beta, \Phi(x) = x^\alpha, \alpha \geq 1$, and obtain the following inequality

$$\int_0^1 [f(x)]^\alpha dx \geq \frac{(1 + \beta)^\alpha}{1 + \alpha\beta} \left(\int_0^1 f(x) dx \right)^\alpha.$$

Notice that this inequality holds true without the condition $\int_0^1 f(x) dx \geq 1$ by Corollary 2.2; moreover, the coefficient $\frac{(1 + \beta)^\alpha}{1 + \alpha\beta}$ is greater than the coefficient $\frac{2^\alpha}{1 + \alpha}$.

A discrete analogue of Theorem 2.1 is as follows.

THEOREM 2.5. *Let $\{y_k\}_{k=1}^n$ be an increasing sequence of real numbers in the interval $[0, b]$ and $\{w_k\}_{k=1}^n$ be a sequence of non-negative real numbers with $\sum_{k=1}^n w_k = 1$. Let $\{x_k\}_{k=1}^n$ be an increasing sequence of non-negative real numbers with $\sum_{k=1}^n w_k x_k = 1$. Suppose that $x_k, cx_k \in [0, b]$ for all $k = 1, \dots, n$, where $c = \sum_{k=1}^n w_k y_k \geq 0$. Let $\Phi : [0, b] \rightarrow \mathbb{R}$ be as in Theorem 2.1 or as in Corollary 2.3. Then, if $\{\frac{y_k}{x_k}\}_{k=1}^n$ is increasing and $c \geq 1$, the following inequality holds true*

$$\sum_{k=1}^n w_k \Phi(y_k) \geq \frac{\sum_{k=1}^n w_k \Phi(x_k)}{\Phi(\sum_{k=1}^n w_k x_k)} \Phi\left(\sum_{k=1}^n w_k y_k\right). \tag{2.11}$$

Conversely, if $\{\frac{y_k}{x_k}\}_{k=1}^n$ is decreasing and $c \leq 1$, then the inequality (2.11) is reversed.

3. Some applications

3.1. Applications to majorization inequalities

Majorization is a preorder relation between vectors on \mathbb{R}^n originally introduced by Hardy, Littlewood and Pólya (see [7]). For each vector $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}^n$, let $\mathbf{x}^* = (x_1^*, \dots, x_n^*)$ be a vector obtained by rearranging the components of \mathbf{x} in increasing order. Then for $\mathbf{x}, \mathbf{y} \in \mathbb{R}^n$, we say that \mathbf{x} is majorized by \mathbf{y} , written $\mathbf{x} \prec \mathbf{y}$, if

$$\sum_{i=1}^k x_i^* \geq \sum_{i=1}^k y_i^*, \quad k = 1, \dots, n,$$

with the equality occurs when $k = n$. This relation is characterized by Hardy, Littlewood and Pólya as follows.

THEOREM 3.1. (see [3]) *The following are equivalent for $\mathbf{x}, \mathbf{y} \in \mathbb{R}^n$.*

- (i) $\mathbf{x} \prec \mathbf{y}$;
- (ii) $\sum_{i=1}^n \Phi(x_i) \leq \sum_{i=1}^n \Phi(y_i)$ for all continuous convex functions Φ defined on \mathbb{R} ;
- (iii) \mathbf{x} is in the convex hull of the set $\{\mathbf{z} : \mathbf{z}^* = \mathbf{x}^*\}$ in \mathbb{R}^n ;
- (iv) There is a doubly stochastic matrix A of order n such that $\mathbf{x} = \mathbf{A}\mathbf{y}$.

This result is called the well-known majorization theorem for vectors. Recall that a doubly stochastic matrix $A = (a_{ij})$ of order n is a square matrix of order n satisfying that each entry a_{ij} is non-negative and the sum of each row or of each column is unit. For two vectors $\mathbf{x}, \mathbf{y} \in \mathbb{R}^n$, we write $\mathbf{x} \leq \mathbf{y}$ if $x_i \leq y_i, i = 1, \dots, n$. We also use the symbol \mathbf{e} to denote the vector $(1, \dots, 1) \in \mathbb{R}^n$.

We can now strengthen the majorization theorem above as follows.

THEOREM 3.2. *Let $\Phi : [0, b] \rightarrow \mathbb{R}$ be as in Theorem 2.5. Let $\mathbf{x} = \{x_k\}_{k=1}^n$ and $\mathbf{y} = \{y_k\}_{k=1}^n$ be two increasing sequences of real numbers from the interval $[0, b]$ such that the sequence $\{\frac{y_k}{x_k}\}_{k=1}^n$ is also increasing. If $A = (a_{ij})$ be a doubly stochastic matrix of order n satisfying that $\mathbf{x} = \mathbf{A}\mathbf{y}$ and $\mathbf{A}\mathbf{y} \geq \mathbf{A}\mathbf{x} \geq \mathbf{e}$, then the following inequality holds true*

$$\sum_{k=1}^n \Phi(x_k) \leq c \sum_{k=1}^n \Phi(y_k),$$

where

$$c = \max_{1 \leq i \leq n} \frac{\Phi(\sum_{j=1}^n a_{ij}x_j)}{\sum_{j=1}^n a_{ij}\Phi(x_j)} = \frac{\Phi(1)}{\min_{1 \leq i \leq n} \sum_{j=1}^n a_{ij}\Phi(x_j)}.$$

Proof. Clearly, the hypotheses of this theorem satisfy the conditions of Theorem 2.5. Moreover, we can write $x_i = \sum_{j=1}^n a_{ij}y_j$ for all $i = 1, \dots, n$ by $\mathbf{x} = \mathbf{A}\mathbf{y}$. Hence, from Theorem 2.5 we infer that

$$\Phi(x_i) = \Phi\left(\sum_{j=1}^n a_{ij}y_j\right) \leq \frac{\Phi(\sum_{j=1}^n a_{ij}x_j)}{\sum_{j=1}^n a_{ij}\Phi(x_j)} \sum_{j=1}^n a_{ij}\Phi(y_j) \leq c \sum_{j=1}^n a_{ij}\Phi(y_j)$$

for all $i = 1, \dots, n$. Adding these inequalities, we obtain

$$\sum_{i=1}^n \Phi(x_i) \leq c \sum_{i=1}^n \sum_{j=1}^n a_{ij} \Phi(y_j) = c \sum_{j=1}^n \left(\sum_{i=1}^n a_{ij} \right) \Phi(y_j) = c \sum_{j=1}^n \Phi(y_j),$$

which finishes the proof of the theorem.

REMARK 3.3. When Φ is a strict convex function and x_i 's are different from each other, the constant c in Theorem 3.2 is smaller than 1.

3.2. Inequalities of Andersson type

Andersson [1] showed that if f_i are convex increasing functions defined on $[0, 1]$ with $f_i(0) = 0$ then

$$\int_0^1 \prod_{i=1}^n f_i(x) dx \geq \frac{2^n}{n+1} \prod_{i=1}^n \int_0^1 f_i(x) dx.$$

This result was extended to the class of continuously differentiable functions f on $[0, 1]$ such that $\frac{f(t)}{t}$ is increasing on $[0, 1]$ with $f(0) = 0$ by Fink [6] in 2003.

The main goal of this subsection is to give a generalization of the above results.

THEOREM 3.4. *Let $f_i, g : [0, 1] \rightarrow [0, \infty)$ be integrable increasing functions on $[0, 1]$ such that $\frac{f_i}{g}$ is also increasing on $[0, 1]$ and $\int_0^1 g(x) dx = 1$. Then, the following inequality holds true*

$$\int_0^1 \prod_{i=1}^n f_i(x) dx \geq \int_0^1 [g(x)]^n dx \prod_{i=1}^n \int_0^1 f_i(x) dx.$$

Proof. Since f_i are increasing on $[0, 1]$, the product $\prod_{i=1}^{n-1} f_i(x)$ is also increasing on $[0, 1]$. Hence, by applying Corollary 2.2 for the functions $w(x) = \prod_{i=1}^{n-1} f_i(x)$, $f(x) = f_n(x)$ and $\Phi(x) = x$, we have

$$\int_0^1 \prod_{i=1}^n f_i(x) dx \geq \int_0^1 g(x) \prod_{i=1}^{n-1} f_i(x) dx \int_0^1 f_n(x) dx. \tag{3.1}$$

Similarly, by applying Corollary 2.2 for the functions $w(x) = g(x) \prod_{i=1}^{n-2} f_i(x)$, $f(x) = f_{n-1}(x)$ and $\Phi(x) = x$, we get

$$\int_0^1 g(x) \prod_{i=1}^{n-1} f_i(x) dx \geq \int_0^1 [g(x)]^2 \prod_{i=1}^{n-2} f_i(x) dx \int_0^1 f_{n-1}(x) dx. \tag{3.2}$$

It follows from (3.1) and (3.2) that

$$\int_0^1 \prod_{i=1}^n f_i(x) dx \geq \int_0^1 [g(x)]^2 \prod_{i=1}^{n-2} f_i(x) dx \prod_{i=n-1}^n \int_0^1 f_i(x) dx.$$

We continue this process until getting the desired inequality.

COROLLARY 3.5. *Let f_i be as in Theorem 3.4. Let \mathcal{S} denote the set of all non-negative increasing functions g defined on $[0, 1]$ such that $\int_0^1 g(x)dx = 1$ and each function $\frac{f_i}{g}$ is also increasing on $[0, 1]$. Then, we have*

$$\int_0^1 \prod_{i=1}^n f_i(x)dx \geq \left(\sup_{g \in \mathcal{S}} \int_0^1 [g(x)]^n dx \right) \prod_{i=1}^n \int_0^1 f_i(x)dx.$$

Acknowledgement. The authors sincerely thank the Associate Editor and anonymous reviewers for their constructive comments which helped to improve the quality of this paper. Our research was funded by Vietnam National Foundation for Science and Technology Development (NAFOSTED) under grant number 101.02-2017.310.

REFERENCES

[1] B. J. ANDERSSON, *An inequality for convex functions*, Nordisk Mat. Tidskr. 6 (1958), 25–26.
 [2] M. J. CLOUD AND B. C. DRACHMAN, *Inequalities with Applications to Engineering*, Springer, 1998.
 [3] P. W. DAY, *Decreasing rearrangements and doubly stochastic operators*, Trans. Amer. Math. Soc. 178 (1973), 383–392.
 [4] S. S. DRAGOMIR, *Integral inequalities for convex functions and applications for divergence measures*, Miskolc Math. Notes 17 (2016), no. 1, 151–169.
 [5] S. S. DRAGOMIR, *Some reverses of the Jensen inequality with applications*, Bull. Aust. Math. Soc. 87 (2013), no. 2, 177–194.
 [6] A. M. FINK, *Andersson’s inequality*, Math. Inequal. Appl. 6 (2003), no. 2, 241–245.
 [7] G. H. HARDY, J. E. LITTLEWOOD AND G. PÓLYA, *Inequalities*, Cambridge Univ. Press, Cambridge, 1934.
 [8] J. M. HOT AND Y. SEO, *An interpolation of Jensen’s inequality and its applications to mean inequalities*, J. Math. Inequal. 12 (2018), no. 2, 303–313.
 [9] M. A. KHAN, G. A. KHAN, T. ALI, A. KILICMAN, *On the refinement of Jensen’s inequality*, Appl. Math. Comput. 262 (2015), 128–135.
 [10] G. G. LORENTZ, *Bernstein polynomials*, Second edition, Chelsea Publishing Co., New York, 1986.
 [11] G. LU, *New refinements of Jensen’s inequality and entropy upper bounds*, J. Math. Inequal. 12 (2018), no. 2, 403–421.
 [12] A. M. MERCER, *A generalization of Andersson’s inequality*, J. Inequal. Pure Appl. Math. 6 (2005), no. 2, art. 57.
 [13] J. E. PEČARIĆ, *On the Ostrowski generalization of Čebyšev’s inequality*, J. Math. Anal. Appl. 102 (1984), no. 2, 479–487.
 [14] M. SABABHEH, *Improved Jensen’s inequality*, Math. Inequal. Appl. 20 (2017), no. 2, 389–403.

(Received March 7, 2019)

Dinh Thanh Duc
 Department of Mathematics
 Quy Nhon University
 Binh Dinh, Vietnam
 e-mail: dinhthanhdudc@qnu.edu.vn

Nguyen Ngoc Hue
 Department of Natural Science and Technology
 Tay Nguyen University
 Daklak, Vietnam
 e-mail: nguyenngochue2009@gmail.com